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Faults (PC): [0.11547466, 3.8848673]
i : 973, 0.0101778] |

Shot #: 3086, Param Tree: 72

= Overcurrent Trip (DCPS)
F Auctioneered Data (idl)

E Condjtioned Data (DCPS), Limits: [-1.5080@#0, 15.000Q00]

T

llllllll

llllllllllllllllllllll

-4 -2 0 2 4
time

(o]

_"Action (idl), Max = 901.396, End Val.= 901.396
L Full Action (idl), Limit = 1240.00, Max.=902.218, End Val. 901.396
- Shot #: 3086, Param Tree: 72
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E_IDL, Circular, [-25.9976, 0.0106499]
DCPS, Circular, [-25.997615, 0.010649856]
IDL, Shaped [Displaced], [-25.9980, 0.0112246]

DCPS, Shaped [Displaced], [-25.997999, 0.011224570]
Shot #: 3086, Param Tree: 72
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